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1. Who among the following can be appointed as an acting Chief Justice of India by
the President?

A Judge of Supreme Court.1.
A Judge of any High Court.2.
A senior advocate of a Supreme Court.3.

Select the correct answer using the codes given below.

 1 only
 1 and 2 only
 1 and 3 only
 1, 2 and 3

2. Horse latitudes are dynamically induced pressure belts. ‘Dynamically induced’
means that they are formed due to:

 Low temperature compared to nearby areas.
 High temperature compared to nearby areas.
 Subsidence of air currents.
 None of the above
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3. Equity market instruments help in financing a firm. Which of these is/are equity
market instruments?

Bonds1.
Shares2.
Debentures3.

Select the correct answer using the codes given below.

 1 and 2 only
 2 only
 2 and 3 only
 1, 2 and 3

4. With reference to biostimulation, consider the following statements:

Biostimulation involves the modification of environment to increase biodiversity.1.
Biostimulation allows one to control the nature of biomass.2.

Which of the statements given above is/are correct?

 1 only
 2 only
 Both 1 and 2
 Neither 1 nor 2

5. Which of the following caves have paintings dated to pre-historic times?

Barabar caves1.
Bhimbetka caves2.
Ellora caves3.

Select the correct answer using the codes given below.

 1 and 2 only
 2 only
 2 and 3 only
 None
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